SN RSR0D
o S0 M4, RS 0PIE SSHSEHY /S - 55
el EoaElIeEy (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
RS0 44,834,617 38,976,050 5,858,567
= 5,019,976
X 1,477,000
D) 7,939,163
= 30,398,478
sHE di, {5 0IE L (sl d/s -5 44,794,717 38,935,360 5,859,357
&)
= 5,019,976
X 1,477,000
D) 7,939,163
& 30,358,578
Foargoerxy 16,339,861 14,179,860 2,160,001
= 3,949,910
D) 5,369, 163
= 7,020,788
ANER0BEHML 738,000 1,026,000 /288,000
202 o4l 3,000 6,000 A3,000
01 =W ol 3,000 6,000 A3,000
OAEZ20 & Mol=s7 2= 3,000
403 NUHXIHHS =201 A 735,000 1,020,000 /285,000
01 XM= E X 735,000 1,020,000 /285,000
OAE20 M 150,000
Obl€st2A Szt 585,000
Masm = tdda 1,892,000 1,726,500 165,500
202 o4l 3,000 5,000 A2,000
01 =Wl 3,000 5,000 A2,000
OLLAXNML HHYA HRFX 3,000
308 AtXIEHMSOIH 384,000 399,000 A 15,000
01 XSS EES 384,000 399,000 A15,000
OMAdHS LK 384,000
402 212tXH201d 800,000 800,000 0
01 N2 AIHE X 800,000 800,000 0
OMA® +==243XE 800,000
403 MHRISHSA201A 705,000 457,500 247,500
01 HXSHMA2Ex 705,000 457,500 247,500
OL=EmEH= T4 300,000
OHSEANLANSAHA =S 375,000
Ol suM sxees8I| N 30,000
o A - 7S 1,402,500 597,500 805,000
202 ol 2,000 5,000 A3,000
01 =UWo 2,000 5,000 A3,000




SN RSR0D
I stte 4o, RS- 0BDIE J(sHllLb/ s - s&)
el EoaElIeEy (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
O3t HRFA 2,000
307 212t01 & 50,000 0 50,000
04 QIZFSHALAIRE 2 X 50,000 0 50,000
02016 1L =HMEE3 XM S22 23 50,000
403 RXIEHHSA=01 A 1,350,500 592,500 758,000
01 HXSHMA2E xR 1,350,500 592,500 758,000
OU=+ZHHK L 135,000
Ot d=EaHE)| X2 90,000
OF Y d XA 202,500
Ou==Ng N&1 &£X 188,000
OAtESUHAxY 735,000
elaletxy 96,000 198,000 A102,000
202 o4l 3,000 5,000 A2,000
01 =Wl 3,000 5,000 A2,000
OBty HRFH 3,000
403 RRISHSA201A 93,000 93,000 0
01 HXSHMA2E xR 93,000 93,000 0
OQlar &l 2t I bH 45,000
oRgEyExd 48,000
SAZ3dHAMD 290,000 90,000 200,000
403 RXIEHHSA=01 A 290,000 90,000 200,000
01 HXSHMA2EE 290,000 90,000 200,000
Q14S 94sH= Sl =4 45,000
O%=XRMH &XIXH 150,000
OB A= JSA 45,000
odd SS&HE M2 50,000
ANEASEMNE (2 D) 4,178,324 4,063,800 114,524
D) 3,214,092
= 964,232
403 MHRIEHSA201A 4,178,324 4,063,800 114,524
D) 3,214,092
= 964,232
01 XS ExE 4,178,324 4,063,800 114,524
OAEZN SEMA 3,866,324
D) 2,974,092
= 892,232
O1= HIJtg A4 312,000
D) 240,000
= 72,000
sgdoudXIolEEssH M) (=22) 3,111,505 2,213,200 898,305
= 2,449,910




FA RS0
o S0 M4, RS 0PIE SSHSEHY /S - 55
ol RA0IAIRIDIBIE A (EEEEED
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
S 661,595
403 MHRIHS 201 3,111,505 2,213,200 898,305
= 2,449,910
= 661,595
01 HXSHMA2Ex 3,111,505 2,213,200 898,305
(COAE=F=GIGIEPNIGE=X=2= 45, 3,111,505
= 2,449,910
= 661,595
NegsHHAR=(=21) 1,224,720 1,694,760 470,040
D) 1,020,600
= 204,120
403 MHRIHS 201 1,224,720 1,694,760 A 470,040
D) 1,020,600
= 204,120
01 XS A2Ex 1,224,720 1,694,760 £ 470,040
OUXNM2AIE & XA 1,224,720
D) 1,020,600
= 204,120
L=DSEALEUSAIG (Z 1) 174,310 130,000 44,310
D) 134,085
= 40,225
403 MHRIHS K201 174,310 130,000 44,310
D) 134,085
= 40,225
01 HXSMA2Ex 174,310 130,000 44,310
QU+ NSHALSUS 174,310
J 134,085
= 40,225
SEX2S MAAIE EUE XA (=1) 884,502 234,000 650,502
J 680,386
= 204,116
403 XIS HS K201 & 884,502 234,000 650,502
D) 680,386
= 204,116
01 HXSHMA2Ex 884,502 234,000 650,502
OBATHEAIEY STHat X1 52,000
D) 40,000
= 12,000
OQIATHEIAIEY STHat X1 832,502
J 640,386
= 192,116
llsd &FE U 24d(=1) 1,950,000 1,950,000 0
= 1,500,000
= 450,000
403 MHRIHS 201 1,950,000 1,950,000 0
= 1,500,000




A RS0
BE: A2 MM, RS- 0DIE LEH(STHYSN/SY - 55)
el 20Tt (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
= 450,000
01 AXISHMA=E X 1,950,000 1,950,000 0
OJlsE8dFMESHHNLXA 1,950,000
= 1,500,000
T 450,000
PR SAANE (=) 216,000 0 216,000
| 180,000
T 36,000
403 XXM S X201 & 216,000 0 216,000
| 180,000
T 36,000
01 AXISHMA=E X 216,000 0 216,000
OR+3R B4 - 25 JIg= 216,000
| 180,000
T 36,000
ANE2WZ0F ICT S =H4&AS 182,000 256,100 AT74,100
| 140,000
< 42,000
403 XXM S X201 & 182,000 256,100 AT74,100
| 140,000
< 42,000
01 AXISHMA=E X 182,000 256,100 AT74,100
QAIER0WZO0F ICT =8 =&AL 182,000
| 140,000
< 42,000
ShERSEdE 2 st RSADIMA 4,542,400 774,500 3,767,900
= 629,000
| 2,570,000
= 1,343,400
sSMSTHZ 226,000 366,000 A 140,000
202 044l 5,000 7,000 A2,000
01 =20 YI 5,000 7,000 A2,000
OSSHSTZE[ YREX 5,000
307 212+0I ™ 90,000 90,000 0
04 QIZHHALAIHS E X 90,000 90,000 0
O=sS42 B & J&eEsSEd 90,000
308 At XIHHSOIH 33,000 6,000 27,000
01 IXEHBAEES 33,000 6,000 27,000
OZZEZEAY 2SI X 10,500
ozdads X& 22,500
403 MRS S K201 A 98,000 263,000 A 165,000
01 AXISHMA2E L 98,000 263,000 A 165,000
OZZECEMY AIEEBIXIA 18,000




A RSO
Ha: SA2 M, RS 0DIE YSHSEHY /5 - 5E)
Sl SAERSHHE UL SHE RSAINA EEEED
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
| Ossd=s BNzEx g 80,000
MRFSINEEY 238,000 343,500 A 105,500
202 044l 3,000 6,000 A3,000
01 =L YI 3,000 6,000 A3,000
OMRNFSIBEL HRFA 3,000
403 A XISHHSX=01H 235,000 337,500 A 102,500
01 [XISMA2E X 235,000 337,500 A 102,500
OMAN=SHEAIE 235,000
sSNUSdSHEH2YE 4,000 5,000 A1,000
201 2 EH2EHI 2,000 3,000 21,000
01 At 2teltl 2,000 3,000 A 1,000
OXNSHH ?I&3 2 2,000
202 044l 2,000 2,000 0
01 =LHOYI 2,000 2,000 0
OXBHH FRFH 2,000
2HIXNSSE -5t 63,000 60,000 3,000
202 044l 3,000 0 3,000
01 =20 YI 3,000 0 3,000
OAHIXNRES&ds 2R = 3,000
307 212+0I A 60,000 0 60,000
02 QIS A E X 60,000 0 60,000
O=s&=HEIHAHE XA 60,000
SSEGHEURIR A (BSHEH])(=HI) 811,400 0 811,400
= 629,000
= 182,400
308 XHXIHMSOIH 811,400 0 811,400
= 629,000
o= 182,400
01 UAXSHHBAEES 811,400 0 811,400
OB SEoEURNIAANS (BSHEH]) 811,400
= 629,000
= 182,400
sSAMS0PAE X2 AIE (2H]) 392,000 0 392,000
Il 230,000
= 162,000
307 glz2tol 392,000 0 392,000
| 230,000
o= 162,000
02 QB AMAHEE 392,000 0 392,000
OsLS0HAHE X & ALY 392,000
Il 230,000




SN RSN
HE: SMS NN, RS 0IY ZEH(SEHSLL/5Y - 52)
ol SAZRSHHE U SM2 RERTNA (Sl ®R)

- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
| = 162,000
stSMIREANLE(ZD) 2,808,000 0 2,808,000
| 2,340,000
= 468,000
403 XXM S X201 & 2,808,000 0 2,808,000
| 2,340,000
& 468,000
01 AXESHMA2EER 2,808,000 0 2,808,000
OstESIREALE X 2,808,000
| 2,340,000
= 468,000
SASMASH 2,286,347 2,611,308 A 324,961
= 277,066
Xl 1,477,000
= 532,281
sHEEEFY 58,000 68,000 A 10,000
307 2I2+0I A 40,000 50,000 A 10,000
04 DI2FEHALALRE B = 40,000 50,000 A 10,000
QAlZY 3 &I 40,000
308 KX SHH SOl 18,000 18,000 0
01 AXHMBLAELS 18,000 18,000 0
ostuga sat2 ZEM K& 18,000
ASa 2435 & 157,500 540,000 A382,500
403 XIS S K201 A 157,500 540,000 382,500
01 AXISHMA=2EE 157,500 540,000 A382,500
O=sASAY &4t KA 157,500
sHtt=35E 2t 64,500 281,500 A217,000
202 (44l 4,000 5,000 A 1,000
01 =LHOYI 4,000 5,000 A 1,000
OSAZEHE ALEX 4,000
308 KX SHHSOI&E 60,500 156,500 296,000
01 IXEHBAEES 60,500 156,500 296,000
OsttEHE LA 38,000
OEXNAISEUSHX A 22,500
FSEMHS SH (=) 1,020,000 339,000 681,000
1,020,000
403 XXM S X201 & 1,020,000 339,000 681,000
1,020,000
01 AXISHMA=2EE 1,020,000 339,000 681,000
OsdtE M= - Jt3 XA 1,020,000
1,020,000




A RS0
Ha: SA2 M4, RS 0DIE YSHSEHY /5 - 5E)
el SAEMASA (EEEEED
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
ANAHSAZAASHAIL (Z1) 594,100 1,098,500 A504,400
Xl 457,000
& 137,100
403 MRS S =01 A 594,100 1,098,500 A504,400
Xl 457,000
& 137,100
01 AXISHMA=2E L 594,100 1,008,500 504,400
ORI HSHAZTAMATY 594,100
Xl 457,000
& 137,100
ed 2zAF AE5(21) 192,247 184,308 7,939
= 177,066
& 15,181
308 At XIHHSOIH 192,247 184,308 7,939
= 177,066
& 15,181
01 IXESHHMBLEXS 192,247 184,308 7,939
OGAPRI ZS =t HE A Z AHIXIR 192,247
= 177,066
& 15,181
XXM SS0HHE XA (=1) 200,000 0 200,000
= 100,000
& 100,000
307 QI2+01 A 200,000 0 200,000
= 100,000
& 100,000
02 QIZHAAMAIEE X 200,000 0 200,000
OXN XM SS0HAHE XIH A 200,000
= 100,000
& 100,000
AMENF 128,000 148,000 220,000
= 64,000
& 64,000
AIZAY Y AI2B DAY (2 1) 128,000 118,000 10,000
=2 64,000
& 64,000
307 QI2+0I A 128,000 118,000 10,000
= 64,000
o= 64,000
02 SIZHAAMAIHE X 128,000 118,000 10,000
QA MENFALY 98,000
= 49,000
o= 49,000
OAHIXEHMES 30,000
= 15,000
o= 15,000




A RS0
Ha: SA2 M4, RS 0PIE SSHSEHY /5 - 55
ool 2E5Y F4 (S91:&8)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
=£sg |4 616,000 913,000 A297,000
=EANZCHE S 616,000 538,000 78,000
202 (44l 6,000 8,000 A2,000
01 SLHOYI 6,000 8,000 A2,000
OsAE ==& RFX 6,000
207 AN 50,000 0 50,000
01 A1 E S| 50,000 0 50,000
OZ& =4t=2 EZHCOXL A 50,000
307 SIZt0I A 230,000 0 230,000
02 SIZHAAMAIHE X 50,000 0 50,000
OZ&d sAE =82 50,000
04 DI2FEHALALSE E = 180,000 0 180,000
OsASHIAAEIHH 180,000
308 XXM SO0l 330,000 350,000 220,000
01 AXHMBLAEES 330,000 350,000 220,000
OsSs¢t2 =84l A& 300,000
O+ =4t= HQ0HHE &Zst 30,000
Stughl RasdtE2 25 19,877,109 19,764,692 112,417
s4tE Sugal 2 52 19,877,109 19,764,692 112,417
202 (44l 5,000 8,000 A3,000
01 S LHOYI 5,000 8,000 A3,000
OsdtE dEtZdstugs dRFX 5,000
308 AHXISHHSOI&E 19,872,109 19,756,692 115,417
01 IXESHBAEES 19,872,109 19,756,692 115,417
oz ed gugal KA 18,069, 196
OMaxsSE d&td stugal X 222,267
OB LASHES SDIA K 1,580,646
ST RUEE 1,005,000 544,000 461,000
= 100,000
& 905,000
SEW AE - aae 4 XA 395,000 284,000 111,000
201 YEr2Z ] 10,000 47,000 A37,000
01 At 22|l 10,000 0 10,000
OZ3T EYAHZ HY U2 29 10,000
202 (44l 3,000 3,000 0
01 S LHOYI 3,000 3,000 0
OS2YL AE A FX 3,000
308 AHXISHHSOI&E 70,000 36,000 34,000
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